Key to Final Exam; Finance 4360; Fall 2006; December 8th


Note:  For all problems requiring calculations, set up but do not solve anything.  “Set up” means write down the appropriate equation and plug in as many numbers as possible.  For multi-step problems, you should refer back to previous steps.
Bonus:  What Excel short-cut is “Used to open the page setup box”?
Alt + F + U

Short answer questions/problems

Problems/Essays

1. Your boss has asked you to evaluate whether or not a new project available to the firm is worthwhile.  After several days of collecting and analyzing information about the project, you take your recommendation and analysis to your boss.  But since your boss is about to leave for a meeting in New York, he asks you to simply tell him your conclusion.  You reply “Since the project is risk free for the firm, I recommend that we proceed since the net present value is $695,000.”  Your boss replies “I said the project is riskEEEE not risk free.  Have your new analysis ready when I return”.  

a.  What parts of your analysis will you have to redo and what parts will you not have to redo?  Explain.  
b.  What additional information will you need to gather and where would you get this information?  Explain.
c.  How would you expect your conclusions to change when you redo your analysis?  Explain.
a.  
No change:  expected cash flows
Change:  1)  required return on project (if risk is systematic), 2) recalculate NPV

b.  
Need beta for project’s cash flows

Source:  Asset beta 
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 for firms in same industry as project
Need market risk premium

Source:  Historical average of 8.2% (unless have better information)

c.  Expect NPV to fall

Reason:  If beta > 0, required return will be higher than risk-free rate

Notes:  1)  If beta < 0, NPV might be higher, 2) if cash pattern has inflows followed by outflows, NPV might be higher

3.  What types of analysis would help you figure out whether a firm has too much debt in its capital structure and what information would you need to undertake this analysis?
1)  Calculate debt ratio = 
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=> possibly too much debt if:  
- greater than industry average

- greater than historical debt ratio for firm

Data needed:  total assets, total equity or total debt

2)  Calculate times interest earned = 
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=> possibly too much debt if:  

- lower than industry average

- lower than historical TIE for firm

Note:  indicates greater chance of default and loss of tax shield

Data needed:  EBIT (or net income and income tax paid and interest expense), interest expense

3)  Calculate cash coverage ratio = 
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=> possibly too much debt if:  

- lower than industry average

- lower than historical CCR for firm

Note:  indicates greater chance of default

Data needed:  Same as TIE plus depreciation

4)  Examine whether covenants on new debt are much more restrictive

=> if so, may indicate that bondholders are worried about the firm having too much debt
Data needed:  debt covenants on any new debt issued
5)  Examine whether debt rating falling or low (below BBB)
=> if so, indicates rating agencies worried that firm has too much debt

Data needed:  debt ratings for firm (current and historical)

6)  Examine whether yield to maturity on bonds rising/prices of existing bonds falling

=> if so, may indicate bondholders worried that too much debt, especially if the YTM on other bonds are not rising

Data needed:  YTM (or prices) of bonds of firm (current and historical)

7)  Examine whether high levels of intangible assets

=> if so, distress costs higher for given debt level

Data needed:  intangible assets, R&D spending.

4.  Use the following information to answer questions a through d below.
Year
Sanderson
Blockbuster
2006
-21%
40%

2005
-3%
-56%

2004
66%
-18%

2003
75%
-21%

2002
30%
-17%

a.  What was the average return on Sanderson Farms and on Blockbuster?

b.  What was the standard deviation of returns on Sanderson Farms and on Blockbuster?

c.  What was the covariance of returns between Sanderson Farms and Blockbuster?

d.  What was the  correlation of returns between Sanderson Farms and Blockbuster?

a.  
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b.  
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c.  
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d.  
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Use the following information in answering questions 5 and 6 below

Yellow Pencil Inc. is considering building a new factory to produce pencils that can be used to surf the web when not being used to write.  The factory will cost $950,000 to build (all payable today) and would be expected to generate its first monthly cash flow of $20,000 five months from today.  After this initial cash flow, net cash flows are expected to increase by 0.1% per month through the final cash flow 5 years from today.  Because the pencil’s web browser always starts at the Yellow’s search page, Yellow expects that producing the pencils will generate additional net cash flows from selling ads of $10,000 each quarter beginning ten months from today and continuing through 3 years and 10 months from today.  The new factory is slightly riskier than Yellow’s existing assets with a beta for the new factory of 1.2 compared to the beta of existing assets of 1.1.  If sales of the web-ready pencils fall short of expectations, the factory can be sold for $400,000 any time over the next 3 years.  The standard deviation of returns on the factory is 25% over the next 5 years, 28% over the next 3 years, and 26% over the next 3 years and 10 months.  This compares to the standard deviation of returns on Yellow’s existing assets of 21% over the next 5 years, 24% over the next 3 years, and 22% over the next 3 years and 10 months.  

Assume that the market risk premium is 7.5% and that the rates on Treasuries (all APRs with continuous compounding) depend on maturity as follows:  1-month = 4.96%, 1-year = 4.76%; 3 years = 4.44%; 3 years- 10 months = 4.36%; 5 years = 4.32%
5.  What would be the value of the project if it were not possible to sell the factory if sales fall short of expectations?
Annuity
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r(1) = rf + 1.2(0.075)
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Growing Annuity
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6.  What is the value of the project including the possibility of selling the factory if sales fall short of expectations?
NPV = NPV(5) + P0
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V0 = V0 (Inflows) from PE5
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7.  Assume that Yuck Brands Inc. has traditionally granted bonuses to its managers based on corporate and divisional accounting earnings.  However, Yuck’s CEO has just announced that this bonus system will be replaced starting next year with a bonus system based on corporate and divisional Economic Value Added (EVA).  At the same time, Yuck’s CEO has mentioned that this afternoon he will be announcing a number of changes to the firm’s previous plans.  What kinds of changes would you expect Yuck to announce this afternoon because of the new bonus system?  Be sure to discuss why you think these changes would stem from the new bonus system.

1)  Expect overall level of investment in fixed assets to fall

=> accounting earnings understate the cost of fixed assets because depreciation shifts costs of factory into future without adjusting for the time value of money

=> EVA assigns interest through a capital charge to any costs shifted to the future

2)  Expect firm to announce that some projects that had planned to take will no longer be taken (see above) and that some projects firm had planned not to undertake will now be accepted.

=> present value of project’s EVA equals the project’s NPV

=> managers will now have more of an incentive to undertake positive NPV projects and reject any negative NPV projects

3)  Expect management to work harder to generate more cash flows from existing assets

4)  Expect firm to sell off some existing assets that are not earning a sufficient return.
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